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p 0.3

k f(k) F(k)
0 0.343 0.343
1 0.441 0.784
2 0.189 0.973
3 0.027 1

KISTERDFIEIFUTDBY TT (AL PELDRE T L)

1. £JLB7IZT=ARRAYFORMULA(BINOM.DIST(A7:A10,B3,B4,FALSE))IEA AT 5
2. ©JLC7IZT=ARRAYFORMULA(BINOM.DIST(A7:A10,B3,B4, TRUE))EA 71T %
3. #ILA6~C10%:ERT S

4. A2 a—N—m[EAI-[T5T]2B8RT S

5. 737IT48NEET. [BETSI71&R RS



ZHEAMOEERBEAK AR AR

- 3 THESMOEFEEMRMERBELMEAK
p 0.3
W f(k) = F(k)
k f(k) F(k) 1.00
0 0.343 0.343
1 0.441 0.784
2 0.189 0.973 0.75
3 0.027 1
0.50
0.25
0.00
3
k




ZHEAMOEERBEAK AR AR

- 3 THESMOEFEEMRMERBELMEAK
p 0.3
W f(k) = F(k)
k f(k) F(k) 1.00
0 0.343 0.343
1 0.441 0.784
2 0.189 0.973 0.75
3 0.027 1
0.50
0.25
0.00
3
k




